
User:  20002moan  |  Contact Us

Parts Catalogue - Option Detail   

Electronic Parts Catalogue - Option Detail

Option Group Graphic Film Card Date

BB1906 01.01.4 bb106gv SS 20-AUG-18

Engines

ISX CM570, ISX CM870, ISX CM871, ISX CM871 E, ISX15 CM2250, ISX15 CM2250 SN, ISX15 CM2350 X101, ISX15 CM2350 X129, ISZ13 CM2150

SN, QSX11.9 CM2250 ECF, QSX15 CM2250, QSX15 CM2250 ECF, QSX15 CM2250 X115, QSX15 CM2350 X105, QSX15 CM2350 X106, QSX15 CM2350

X118, QSX15 CM2350 X130, QSX15 CM2350 X131, QSX15 CM570, QSZ13 CM2150 Z101, QSZ13 CM2150 Z102, R2.8 CM2220 R101B, X12 CM2350

X119B, X15 CM2350 X114B, X15 CM2350 X116B, X15 CM2350 X125M, X15 CM2350 X132C

SMALL | MEDIUM | LARGE

Cart Ref No Part Number Part Description Required Remarks

View My Cart

BB1906 Cylinder Block Plumbing Cylinder Block Plumbing

BB1906 Cylinder Block Plumbing Cylinder Block Plumbing

3101532 Male Union 1

3101532 Male Union 1

1 3101531 Male Union 1

Cummins QuickServe Online https://quickserve.cummins.com/qs3/portal/parts/...

1 of 3 8/29/19, 11:38 PM



1 3101531 Male Union 1

2 3678925 O-Ring Seal 1 M10.

2 3678925 O-Ring Seal 1 M10.

3678610 Threaded Plug 1

3678610 Threaded Plug 1

3 3678602 Threaded Plug 1

3 3678602 Threaded Plug 1

4 3678603 O-Ring Seal 1

4 3678603 O-Ring Seal 1

3678921 Threaded Plug 1 M14 X 1.5 X 16.

3678921 Threaded Plug 1 M14 X 1.5 X 16.

5 3678912 O-Ring Seal 1 M14.

5 3678912 O-Ring Seal 1 M14.

6 3678922 Threaded Plug 1 M14 X 1.5 X 16.

6 3678922 Threaded Plug 1 M14 X 1.5 X 16.

7 3682798 Hexagon Flange Nut 4

7 3682798 Hexagon Flange Nut 4

8 3683607 Water Seal 1

8 3683607 Water Seal 1

9 3686409 Water Transfer Connection 1

9 3686409 Water Transfer Connection 1

4393526 Tube, Water Transfer 1

4393526 Tube, Water Transfer 1

10 3683814 O-Ring Seal 1

10 3683814 O-Ring Seal 1

11 4393525 Tube, Water Transfer 1

11 4393525 Tube, Water Transfer 1

4367122 Water Transfer Tube 1

4367122 Water Transfer Tube 1

Cummins QuickServe Online https://quickserve.cummins.com/qs3/portal/parts/...

2 of 3 8/29/19, 11:38 PM



10 3683814 O-Ring Seal 1

10 3683814 O-Ring Seal 1

12 3625636 O-Ring Seal 1

12 3625636 O-Ring Seal 1

13 4367123 Water Transfer Tube 1

13 4367123 Water Transfer Tube 1

14 3688252 Vent Tube 1

14 3688252 Vent Tube 1

15 3903112 Hexagon Flange Head Cap Screw 1 M10 X 1.50 X 30.

15 3903112 Hexagon Flange Head Cap Screw 1 M10 X 1.50 X 30.

16 3904446 Hexagon Flange Head Cap Screw 1 M10 X 1.50 X 70.

16 3904446 Hexagon Flange Head Cap Screw 1 M10 X 1.50 X 70.

17 4386616 Mounting Spacer 2

17 4386616 Mounting Spacer 2

© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A.

Terms of Use and Disclaimers  |  Recommended System Requirements

Need Assistance? Please click on the Contact Us button in the top right corner of any page.

Cummins QuickServe Online https://quickserve.cummins.com/qs3/portal/parts/...

3 of 3 8/29/19, 11:38 PM


